Paper Question & Answers Detail s

The movement of drug from against the
concentration gradient utilizing the energy of

another molecule that is moving in the
opposite direction is known as;

Which of the following is the biologically
active form of a drug?

@

A patient with infectious mononucleosis

presented to the medical OPD with fever and

sore throat. He was prescribed ampicillin for

1 days after confirming that the patient

was not allergic to penicillin. 3 days later 1
the patient reported back complaining of

rash and itching all over the body. This kind

of non allergic rash can be classified as

which of the following adverse effects?

®




The effect of two drugs give together was
higher than the sum of their individval
effects. This type of drug-drug interaction
is known as;

®

A patient suffering from insomnia was
taking a sedative since last 2 months. He
presented to the OPD complaining that even
though he is still taking the drug in the
same dose as before it is not effective
anymore. Which of the following is the most
likely responsible for this condition?

®

A sedative is to be administered to a patient
suffering from insomnia. You have to choose
either drug A with an EDS0 of 100 and LD30
of 4000, or drug B with an LDS0 of 700.
Regarding these two drugs;

®

Phenobarbitone was suggested to be
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prescribed to a neonate suffering from
Jaundice. Which of the following is the most
probable reason for administration of
phenobarbitone in neonatal jaundice?

S

A dosage of tablet phenytoin was given to a
patient suffering from epilepsy. A constant
amount of this drug is eliminated per unit
time. Regarding the elimination of phenytoin;

A patient presented to the medical OPD with
the diagnosis of malaria. Chloroquine was
administered as 4 tablets stat, 2 tablets
after 6 hours and then 1 tablet BD for 2
days. Which of the following is the most
likely reason of giving &4 tablets stat
initially?
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A 35-year-old North American man
complained to his physician of tingling
sensation in his limbs and noted that his
arms sometime felt heavy. The man recently
diagnosed with pulmonary tuberculosis, had
been receiving isoniazid and rifampin for 2
months. He was diagnosed with peripheral
neuropathy, a known adverse effect of
isoniazid. Which of the following events
most likely caused the patient’s symptoms
and signs?

A 59-year-old Asian man with atrial
fibrillation presented to his physician
complaining of red vrine. The man had been
receiving a standard dose of warfarin, which
is an anticoagulant drug biotransformed by
CYP2C9 isozyme. Which of the following was
the most likely cause of the patient’s
disorder?

1




A 30- year old woman took a large dose of
acetaminophen in aqueous solution to treat a
severe headache. Two hours later, the pain
was not diminished. Because acetaminophen
should be effective in about 30 minutes
after its oral administration, which of the
following conditions most likely delayed the
oral absorption of the drug in this patient?

A 69-year- old woman was brought to a local
hospital emergency department by her son,
who reported that his mother was found
lethargic, disoriented, and combative a few
hours earlier. Additional history revealed
that she had ingested a large number of
aspirin tablets in a svicide attempt. An
appropriate therapy was instituted, which
included the administration of sodium
bicarbonate to increase the elimination of
salicylate. Which of the following best
explains the mechanism of this increased
elimination?

®

A 51-year old woman suffering from
hyperthyroidism was administered an oral
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solution of radioactive iodine to destroy her
thyroid gland. Which of the following
permeation processes most likely accounted
for the transfer of the drug across the
thyroid cell membrane?

®

Thiopental is fat soluble drug, hence it is
redistributed from the brain to the fat
tissves after administration. This property
is most likely responsible for which of the
following?

A patient presented to Northwest General
hospital with rigors chills and fever for last
3 days and was diagnosed with malaria. He
was prescribed with a loading dose of &4
tablets of choloroguine. The loading dose of
a choloroquine is vsvally based on which of
the following?




If the pharmacological effect of a drug is
plotted against the dose to construct a dose
response curve. Which of the following is the
significance of taking the log of the dose?

A drug A was administered to a patient who
was already taking another drug B for
another illness. Drug B was not causing any
toxic effects when given alone but upon the
administration of drug A, the toxic effects
of drug B started appearing. Which of the
following mechanisms is most likely
responsible for this effect?

A drug X has a half life of 4 hours. If
500mg of the drug is administered at Ohrs,
how many hours would it require for the
drug concentration to fall down to 62.5 mg?




A 6-year-old boy suffering from inflvenza
received an anti-pyretic drug for 4 days. On
the fifth day, he lapsed into a coma and
died. The autopsy disclosed diffuse
microvescicular fatty infiltration of the
liver, heart, and kidneys, as w ell as cerebral
edema. Which of the following antipyretics
most likely caused the patient’s death?

A 59-year-old obese woman presented to the
emergency department because of severe
colicky pain in the right lumbar region. The
patient had a long history of osteoarthritis
for which she had been taking several
different pain killers daily for the past
year. Current medications included
atorvastatin and ezetimibe for
hypertlipidemia and hydrochlorothiazide for
mild hypertension. A renal biopsy confirmed
the diagnosis of papillary necrosis and
tubulointerstitial inflammation of the
kidney. Which of the following drugs most
likely caused the patient’s disease?

A 65-year-old man had been recently
diagnosed with osteoarthritis. Six months




aqo, the patient suffered from peptic vlcer
disease that healed after triple antivlcer
therapy. Which of the following non-steroidal
anti-inflammatory drugs would be most
appropriate for this patient?

A female of 30 years was receiving a drug
for the treatment of malaria. A few weeks
later she presented to medical OPD with
blurred vision. Ophthalmoscopic examination
revealed retinal damage. Which of the
following drugs is most probably responsible
for this adverse effect?

A male of 25 years presented to medical
emergency with chills and rigors. The lab
investigations confirmed the diagnosis of
malaria and treatment was given. A few
months later he again presented with
malaria which was considered to be a
reactivation of a dormant form of vivax
malaria. Which of the following drugs should
be used for the treatment of malaria in this
patient?




severe pharyngitis that turned out to be due
to Streptococcus pyogenes. Past history of
the patient was significant for an
anaphylactic reaction to ampicillin. Which of
the following antibiotics would be most
appropriate for this patient?

®

A 53-year-old man was admitted to the
hospital with the admitting diagnosis of
pneumonia. Further exams indicated that the
pneumonia was due to Mycoplasma
pneumonia, and treatment with an
appropriate bacteriostatic antibiotic was
started. The given drug most likely belonged
to which of the following classes?

A 65-year-old man complained to his
physician of nervousness, insomnia, and
palpitations. The man had been suffering
from chronic obstructive pulmonary disease
for several years and had been receiving
therapy that included theophylline. A few
days earlier, he had been diagnosed with
streptococcal pharyngitis and started an
appropriate treatment. The physician thouvght
that the patient’s symptoms were most
likely due to an antibiotic—theophylline
interaction. Which of the following

ﬂﬂ*:h:ﬂ"’tf‘[‘ M T=T mne+ I:kﬂlll r.nennne:hln ‘Fﬂf'




b AT 8B 0 e e~y i R = i e i SR o T S A 1k oy B e B it 2

antibiotics was most likely responsible for
this interaction?

@)

A patient presents to the medical OPD with
complaints of oral discharge and white
lesions. The examination reveals whitish
patches over the tongue and the oral
mucosa. The patient reports of taking a
broad spectrum antibiotic for 2 months
before the appearance of these lesions.
Which of the following is the most
appropriate drug for the treatment of this
patient?

p
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An 8-year-old child presented with brownish
discoloured and deformed anterior teeth.
History of having received an antibiotic
about 4 years earlier was obtained. Which
antibiotic could be responsible for the
condition:




Select the sulfonamide drug which is active
against Pseudomonas and is used by topical
application for prophylaxis of infection in
burn cases:

®

An antifungal drug that binds to ergosterol
forming “pores” that disrupt fungal
membrane integrity is;

®

A patient suffering from a respiratory tract
infection was started on a broad spectrum
antibiotic. A few days later he presented
with severe abdominal pain and
gastrointestinal distress. Examination
revealed pseudomembranes and treatment
was initiated wit Vancomycin. Which of the
following drugs is the most likely cause of
this condition?

®

A male of 25 years presented to medical

omeraencu with chille and riaore The lab




emergency with chills and rigors. |he (ab
investigations confirmed the diagnosis of
malaria and treatment was given. A few
months later he again presented with
malaria which was considered to be a
reactivation of a8 dormant form. Which of
the following drugs should be used for the
radical cure of the disease?

®

The duration of action of Benzathine
Penicillin is longer as compared to Penicillin
even though both share similar
pharmacological characteristics. Which of
the following is the reason for the
prolongation of action of benzathine
Penicillin?

A female of 30 years was receiving a drug
for the treatment of malaria. A few weeks
later she presented to medical OPD with
blurred vision. Opthamlmoscopic examination
revealed retinal damage. Which of the
following drugs is most probably responsible
for this adverse effect?

o




A male of 25 years presented to medical
emergency with chills and rigors. The lab
investigations confirmed the diagnosis of
malaria and treatment was given. A few
months later he again presented with
malaria which was considered to be a
reactivation of a dormant form. Which of
the following drugs should be used for the
radical cure of the disease?

@) !

Which of the following drugs acting via DNA
gyrase inhibition and would be the drug of
choice for gram negative uncomplicated
urinary tract infection?

A study of aging shows that senescent cells
have accumulated damage from toxic
byproducts of metabolism. There is
increased intracellular lipofuscin deposition.
Prolonged ingestion of which of the following
substances is most likely to counteract this
aging mechanism?




aging mechanism?

o
@

At autopsy, the heart of a 63 year old man
weighs only 250gm (normal 330gm) and has
small right and left ventricles. The
myocardivm has dark chocolate-brown color
throughout which on histologic examination
reveal yellow brown paranuclear pigment.
Which of the following pigments is described
in this scenario?

@

A 22 year old woman with levkemia
vndergoes bone marrow transplantation and
receives a partially mismatched donor
marrow. One month later she has a scaling
skin rash. A skin biopsy is obtained which
shows morphological findings of graft
versus host disease. This most likely results
from which of the following reactions?

@
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A 55 year old man has experienced an
episode of chest pain for 6 hours. Histologic
section of his left ventricular myocardiuvm

o
—

shows irreversibly damaged cardiac myocyte
with coagulative type necrosis. Which of the
following conditions most likely produced
these myocardial changes?

@

=/

When a bacteriophage is involved in the
transfer of genetic material from one 1
bacterium to another it is called

®

A house officer collects sputum from a
patient. The doctor is suspecting
tuberculosis, on which medivm is he going to
culture it to confirm the diagnosis?

®




A patient comes to A & E with history of
wound contaminated with soil. At the
moment he is having spastic paralysis,
doctor is sure that the patient has tetanus
and gives a tetanus toxoid vaccine and pre
formed antibodies. What sort of immunity is
this?

@

Pathogenesis refers to the sequence of
events during the course of an infection
within the host, and the mechanisms giving
rise to these events. Which of the following
choices lists the steps of pathogenesis in the
correct order?

®

A 65 year old women presents with 3 months
history of transient ischemic attacks. She
has an audible brvit on auscultation of the
neck. A left carotid endarterectomy is
performed. Grossly the atheromatous plaque
has yellow-tan and firm appearance. Which
of the following material will be found in
abundance in the form of crystals within
cleft like spaces if you examine the
specimen microscopically?




Several bacteria that form spores are
important human pathogens. Which one of
the following is the most accurate
statement about bacterial spores?

In a rapidly multiplying bacterial population,
cell numbers increase exponentially. This
phase of the growth cycle is referred to as
which phase;
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The micrometre (ym) is commonly employed
to measure the thickness or diameter of
microscopic objects, also called micron. What
is the approximate diameter of the bacterial
cell?

®

A diabetic lady comes to hospital with
history of repeated boils on the body. Using
your knowledge of microbiology, which
microorganism is involved?

A 30 year old man who works in an abattoir
comes to the doctor wit fever on and off.
The doctor diagnosed him as having zoonotic
infection Brucella. Which type of rod is
Brucella?

A 6 year old boy comes to OPD with rash on
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his face and body. He has photophobia,
malaise and anorexia. The doctor diagnose it
as Measles. Which vaccine is given to
children against measles?

®

A child 12 years old came to A&E, he had a
lesion on upper lip after fever. The doctor
diagnosed it as a viral disease.Which virus is
involved in causing this disease?

®

Various soluble mediators are added to a cell
culture containing epidermal cells to
determine which of them might be useful
for promoting epidermal cell growth. When
epidermal growth factor is added, it binds to
cell surface receptors, with subsequent
transcription factor translocation and DNA
transcription. This effect is mediated
through which of the following intracellular
pathways?
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pathways?

An 18-year-old man lacerated his left ear
and required sutures. The sutures were
removed 1 week later. Wound healing
continved, but the site became disfigured
over the next 2 months Which of the
following terms best describes the process
that occurred in this man?

A 58-year-old man had chest pain persisting
for 4 hours.A radiographic imaging procedure
showed an infarction involving a 4-cm area
of the posterior left ventricular free
wall.Laboratory findings showed serum
creatine kinase of 600 U/L. Which of the
following pathologic findings would most
likely be seen in the left ventricular lesion 1
month later?

®




A 30-year-old woman undergoes cesarean
section to deliver a term infant, and the
lower abdominal incision is sutured. The
sutures are removed 1 week later. Which of
the following statements best describes the
wound site at the time of suture removal?

A 41-year-old man has had a severe

headache for the past 2 days. On

examination, his temperature is 39.2° C. A

lumbar puncture is performed, and the
cerebrospinal flvid obtained has a WBC count 1
of 910/mm3 with 94% neutrophils and 6%
lymphocytes. Which of the following

substances is the most likely mediator for

the fever observed in this man?

Two month after an apendisectomy, a 35-
year-old woman palpates a small nodule

beneath the skin at the site of the healed

right lower quadrant sutured incision. The

nodule is excised, and microscopic

examination shows macrophages, collagen 0
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deposition, small lymphocytes, and
multinucleated giant cells.Polarizable,
refractile material is seen in the nodule.
Which of the following complications of the
surgery best accounts for these findings?

®

A 21-year-old woman develops a sore throat
and fever during the past day. Physical
examination shows pharyngeal erythema and
swelling. Laboratory findings shows
increased number of leucocytes She is given
anti inflammatory drug with the name of
naproxen. Which of the following features of
the acute inflammatory response is most
affected by this drug?

fam
®

In an experiment, neuvtrophils collected from
peripheral blood are analyzed for a “burst”
of oxygen consumption. This respiratory
burst is an essential step for which of the
following events in an acute inflammatory
response?




I~
Q)

A 4-year-old child has had a high-volume
diarrhea for the past 2 days. On examination
she is dehydrated. A stool sample examined
by serologic assay is positive for
rotavirus.She is treated with intravenous
fluids and recovers. Which of the following
components is found on intestinal cells and
recognizes double-stranded RNA of this virus
to signal transcription factors that
vpregulate interferon production for viral
elimination?

)
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An 15 year old boy falls and cuts his
forearm. The wound becomes badly infected.
Bacteria extend into the extracellular matrix
around capillaries. In the inflammatory
response to this infection, which of the
following cells removes the bacteria?

Ma Jority of members of the
enterobacteriacae family are motile. The
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enterobacteriacae family are motile. The
organ of locomotion of bacteria is called:

)

a
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Enteric bacteria are mainly classified based
on their ability to ferment various sugars
including lactose. Which of the following
bacteria is a non-lactose fermenter?

f \I }
®

A child comes to a pediatrician with fever
and a gray white membrane on the pharynx
on examination. The doctor inquires from
the mother about which vaccination has been
done?

®

A 10 year old boy falls in the park while
playing, he sustains a wound on his leg
contaminated by soil. The doctor orders a
vaccination to be done. What do yov think
thic vaccination ic aaainet which svuenected




this vaccination is against which suspected
disease?

®

When was the first case of the COVID-19
infection seen in Pakistan? Select from the
options below:

A laceration to the left hand of an 18 years
old male was sutured and after the sutures
were removed a week later healing continued.
However, the site of the wound became
disfigured by a prominent raised scar that
developed over the following 02 months.
What process occurred?

O

The process of levkocyte accumulation at
the periphery of vessel is;




The main event in complement activation is
the formation of

5

)

During Cutaneous wound healing by primary
intention, neovascularization reaches its peak
as granulation tissve fills the incisional
space by;

.;@

Percentage of people who are secretors of
the blood group antigen into their saliva are:

"
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The chromosomal pattern in Klinefelter’s
syndrome is:

Chelating agents are used for poisoning dve
to:

)
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Cephalic index has great importance in

0
determination of:
Retraction of gum margins and loosening of 1

teeth refer to:

O




Deciduous canine teeth erupt at the age of:

@

Any injury, disease or intoxication which
finally proves fatal is called:

N
|\,/\

In Gustafson method of determination of
age through teeth, the most reliable criteria
is:

I~
@

Kleptomania means:
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Attempt to apply force to the body of a
person in @ hostile manner is called:

®

F
\)

The medico legal system which is in vogue in
Pakistan is:

Subpoena” is the other name of: 1

®
=/

PM & DC gives punishment to RMP in cases
of:

@

fp




“Perjury” means: 1

A 30 years old male presented with
complaints of bilateral nasal obstruction
from the last 2 years. On examination, he
had bilateral nasal polyps. The latest
development in treatment of sinus pathology
is:

®:

A 45 years old female presented with a
midline neck swelling from the last 5 years.
0/E patient had a large swelling 5x5¢cm on
the right side and 4x4cm on the left side
which moved with swallowing. She was
diagnosed with a multinodular goiter. The
attending surgeon listed her for total
thyroidectomy. After the procedure, the
patient developed inspiratory stridor in the
recovery room and was not maintaining



-
which moved with swallowing. She was

diagnosed with a multinodular goiter. The
attending surgeon listed her for total
thyroidectomy. After the procedure, the
patient developed inspiratory stridor in the
recovery room and was not maintaining
oxygen saturation. Examination revealed both
vocal cords in paramedian position. The
complication that has occurred during
surgery is:

@ A Bilateral abductor paralysis [T]

B hypocalcemia

C laryngeal spasm

D tension hematoma

E tracheomalacia
A 30 years old male was involved in a road
traffic accident 2 days back. He received
trauma to his right temporal bone and was
complaining of pain from the impact. He has
now presented with the complaints of
decreased hearing on the right side. O/E, 0
tympanic membrane is intact, tuning fork
testes show right conductive hearing loss.
His PTA shows 50 db of conductive deafness.

Which of the following mechanisms has been
disrupted, resulting in his hearing loss

A endolymphatic pressure

P tarhiarm t1ilha nbhetrtirtinm
B eustachian tube obstruction
C impedance matching

@ D lateral semicircular canal

E lever action of ossicles [T]



E lever action of ossicles [ 1]

A 15 years old female presented to opd with
the complaints of right ear discharge fom
the last 4 years. She now presented with
episodes of vomiting and sensations of head
spinning (vertigo) from the last 2 days. 0/E
patient had a right central perforation in
the tympanic membrane with mucopus
coming out through the perforation. She also
had nystagmus with the fast component
towards the right ear and she could not
maintain balance. Based on these findings,
which structure has been involved by the
disease in the middle ear

\ Lanial narEun
A tacial nerve

@ B lateral semicircular canal [T)

C ossicular chain

D promontary

E stapes footplate
A 60-year-old patient comes to Eye OPD with
chief complaints of graduval decrease vision
for last 1 year. The visval deterioration is
painless and progressive. It is not associated
with any history of flashes of light,
floaters or trauma. On examination, yov

noticed opacification of the lens. What is
the most likely diagnosis?

A A. Corneal vlcer

@ B Age-related cataract (T)
C Retinal detachment
D corneal vlcer
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E Keratoconus

A 2-month-old baby is brought by her

parents with complaints of watering and

discharge from her eyes since 1 month. 0
Which statement regarding congenital
Nasolacrimal duct obstruction is true?

A Noncanalization at the lower end of the

nasolacrimal duct is the vsual cause (T)

B A week course of topical antibiotics results in the

complete resolution of the disease

C Initial treatment should be probing of the

nasolacrimal duct

D Most of the patients ultimately require

Dacryocystorhinostomy surgery

E The spontaneous resolution does not usually occur

despite NLD massage

A 7-year young boy is brought by his parents
for deviation of eyes. On examination, the
patient is having decreased vision and is
prescribed glasses for correction. What is
the most correct statement regarding
Hypermetropia?

A In Hypermetropia, the image is formed behind the

retina [T)

B Most children are myopic in early childhood



@ C In hypermetropia, a longer-than-normal axial length
is the main pathology

D In hypermetropia, a concave lens will correct the
refractive error

E In hypermetropia, a cylindrical lens at a given axis

usvally corrects the refractive error

A 62 year old man presents 2 days after
right eye cataract surgery with severe pain
and reduced vision in the same eye. On
examination there is lid swelling,hypopyon
and loss of red reflex. What is the most
likely diagnosis?

A Corneal ulcer

B Chronic post op Endophthalmitis
C Acute anterior vveitis

D Allergic conjunctivitis

@ E Acute post op Endophthalmitis (T)

Which investigation is performed to calculate
the power of intraocular lens before 0
cataract surgery?

A Tonometry

B Gonioscopy

C Flourescein angiography
D Biometry (T]

@ E Optical Coherence Tomography

A competent 30 years old lady who is 38
weeks pregnant refuses to have a cesarean



delivery despite the fact that without
surgery, the fetus could die. Both her
surgeon and psychiatrist have failed to
convince her to have the surgery. The most
appropriate action for her surgeon to take at
this time is to:

A Get permission from her Husband to do the

surgery.

B Get a court order in favour of surgery.

C Tell the patient that she can be criminally

prosecuted if the child dies.
@ D Deliver the child vaginally. (T]

E Refer the patient to another doctor.

Patients are most likely to comply with the
medical advice for which of the following 0
reasons:

@ A The illness has serious symptoms.
B The doctor is elderly.
C The illness is chronic.

D The treatment schedule is complex

E The doctor has taken time to provide Informational
Care to the patient. (T)

A female patient comes to the doctor’s clinic
wearing revealing clothes. She comes up very
close to the doctor and starts asking him
personal questions in a seductive tone. What
would be the appropriate response by the
doctor?



A Refuse to examine her.

@ B Call in a nurse. (T]
C Use open ended questioning technique.
D Ask about her personal life

E Refer her to another doctor

Daily or weekly supervision is carried out at
Primary health care level to access the
effectiveness of an ongoing health program.
This type of assessment is known as:

@ A Evaluation
B Feedback
C Monitoring (T)
D Impact indicator.

E System analysis

In Pakistan there are three levels of Health
care system pertaining to Primary,
Secondary and Tertiary hospitals. The
Primary Health System comprises which of
the following units, components & services:
T

A Primordial and preventive care.
B Immunization & MCH care services

C Specialized and rehabilitative care hospitals

@ D Basic Health Unit, Rural Health Center & Lady
Health Workers. (T)

E Tehsil Head Quarters, District Head Quarters, Rural
Health Centers



An investigator wants to assess the ‘Physical
Quality of Life Index’ (PQLI) also known as
“Human Development Index” of a population

in @ country. For this purpose the 0
investigator should investigate which of the
following as the most appropriate indicator

for this measvre. :

A Level of air pollutants
B Crude death rate and literacy rate
@ C Crude birth rate and crude death rate

D Infant mortality rate and per capita income

E Infant mortality rate, life expectancy at age one

year and literacy rate [T]

An epidemiologist wants to study the natural
course of disease as it evolves without any
intervention/ treatment. Among the following = 0
choices which one best describes this

process:

A Spectrum of disease

B Natural history of disease (T]

C Clinical features of disease
@ D Epidemiology of disease

E Surveillance of Disease
An expert makes a plan to limit tuberculosis

to such an extent that it is no longer a 1
ma Jor health problem. This plan is known as

@ A Disease control [T)
B Disease eradication
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C Disease elimination
D Disease suppression

E Disease prevention

Coronavirus disease (COVID-19) is an

infectious disease caused by the SARS-CoV-2

virus. Most people infected with the virus

will experience mild to moderate respiratory 1
illness and recover without requiring special
treatment. The best and most accurate way

to diagnose Covid-19 is:

A Rapid antigen test

B Patient travel history to high risk area

@ C A qualitative Covid polymerase chain reaction (PCR)
or molecular test (T)

D Identifying symptoms, such as fever, cough, or sore
throat

E There is no best or accurate way to diagnose Covid.

Trachoma is a contagiovs disease prevalent
in many underdeveloped countries. It can
result in blindness if not treated on time.
Individvals(infected with trachoma) with lid
deformities such as trichiasis or entropion
are advised to :

A Take antibiotic combination therapy
@ B Antibiotic steroid combination therapy
C Surgical correction of the deformities (T]

D Steroids only



D Steroids only

E Radiotherapy

Case fertility rate of Neonatal Tetanus
without quality and timely treatment is:

A 20-30 %
@ B 10-50%

C 50-60%

D 80-90% (T)

E 60-70%

Tetanus bacilli produce a soluble exotoxin. It
has an astounding lethal toxicity, exceeded
only by botulinum toxin. The lethal dose of
tetanus exotoxin for a 70 kg man is:

A 1mg
B 10mg
C 0.1mg (T)

@ D 0.01mg

E 100mg

Diagnostic intradermal test used for
Lieshmania is commonly done through

A Casaoni's test
B Mantoux test

C Shick’s test

<

Montenegro test (T]

O,

T

Aldehyde test

A Young woman suffered from a mild



generalized illness having fever, headache,
flv like symptoms and a mild rash during
pregnancy. The new born baby was found to
be suffering from a depressed nose and a
congenital valvular heart disease. What
condition of the mother was the most
probable cause of the child abnormality?

A Measles
B Mumps

@ C Rubella [T]
D Hepatitis C
E Tuberculosis

Mr. Ahsan is working in for leather to which
he supplies animal's skin as raw material for
10 years. Which of the following disease he
is more likely to contract:

A Malaria

@ B Anthrax (T)
C Leishmaniasis
D Histoplasmosis

E Asbestosis

A veterinary doctor is interested to get
himself vaccinated pre-exposure against
rabies cell cultured vaccine will be given
according to following schedule:

B N7 0
A Day 0,3,7,28

@ B Day 0,3,7,21,28

D Day 0,3,7,21,28,90



E Day 0,7,28 (T)

A pregnant lady in first trimester of
pregnancy developed mild fever and rash and
recovered after few days uneventfully. She
gave birth to a baby with heart anomalies,
congenital cataract, and defenses. The likely
disease she suffered from was:

@ A Rubella [T]

B Measles

C Chicken pox
D Drug reaction

E Typhoid

A 35 year old male presents to the clinic
with a 6 months history of low back pain
with stiffness.The stiffness lasts about 45
minutes and tends to improve with
activity.There is no history of trauma.On
examination he has minimal tenderness at
the lumbar spine and the left sacroiliac
Joint. His blood tests show normal CRP and
full blood count .X-rays of the lumbosacral
spine and sacroiliac Joint are normal.Based
on his symptoms what is the next best test
to asses his symptoms further ?

al ™re M
A DEXA scan

C MRI lumbar spine

®

D Ultrasound of the spine

E X-ray thoracolumbar spine

Mrs Kamal 65 year old presents to

B MRI sacroiliac joint with STIR sequence (T]



E Day 0,7,28 (T)

A pregnant lady in first trimester of
pregnancy developed mild fever and rash and
recovered after few days uneventfully. She
gave birth to a baby with heart anomalies,
congenital cataract, and defenses. The likely
disease she suffered from was:

@ A Rubella [T]

B Measles

C Chicken pox
D Drug reaction

E Typhoid

A 35 year old male presents to the clinic
with a 6 months history of low back pain
with stiffness.The stiffness lasts about 45
minutes and tends to improve with
activity.There is no history of trauma.On
examination he has minimal tenderness at
the lumbar spine and the left sacroiliac
Joint. His blood tests show normal CRP and
full blood count .X-rays of the lumbosacral
spine and sacroiliac Joint are normal.Based
on his symptoms what is the next best test
to asses his symptoms further ?

al ™re M
A DEXA scan

C MRI lumbar spine

®

D Ultrasound of the spine

E X-ray thoracolumbar spine

Mrs Kamal 65 year old presents to

B MRI sacroiliac joint with STIR sequence (T]



outpatient clinic with history of back pain
with height loss.Her Past Medical history
includes fracture left distal radius 3 years
ago.She also takes steroids on and off for
her Asthma. On examination she has got
kyphosis with tenderness at the lumbar
spine.Her X-ray shows vertebral collapse at
L4 . Based on her clinical history ,
examination and imaging what is the most
likely cause of her symptoms ?

A Ankylosing Spondylitis
D Dbkarirmest A Nrtheitie
B Rhevmatoid Arthritis

o B o W S B g, v 52
C Osteoarthritis

@ D Osteomalacia

= MaFdAapieae T
c USLeOPOrosIs LA

Parents of a 3 year old bring their child to
your clinic with complaints of her inability
to move right leg and fever for last 3 days.
The child looks cranky, is febrile to touch.
You attempt to examine her leg and she
cries out in pain. The knee joint is seollen,
red, hot and tender. The child kerps the leg
in flexed position. You order lab work and x
ray rt knee joint. Cbc shows hb 9.2, tlc
30,000 with 90% neutrophils, CRP is 32 X ray
knee shows loss accumulation of synovial
flvid. You advise the parents to admit the
child. What is the most probable diagnosis

A rheumatoid arthritis

B nctonarthritic 1
B osteoartnritis |1}

 raamstivia artleidles
@ C reactive arthritis

|.l et infectiolie a thritic
L/ DOST INTectious artnritis



based on ILAR (international league against
rheumatism) how do v define polyarticular
JIA based on number of joints involved?

Parents of 5 month old bring their baby to
opd complaining of his irritability and
excessive crying. The child is
developmentally delayed with no visval
following and hearing.0/E he has
hepatosplenomegaly and chest on
auscultation shows rhonchi. Yov order some
lab work and CXR. CXR shows typical bone in
bone appearance he is a product of
consanguinous marriage. What is the
diagnosis

Bacteria, viruses, fungi, and protozoa are
important causes of human disease. Which
one of the following microbes contains either



